
MODEL 1300

Installation Manual 



MODEL 1300
INSTALLATION

WARRANTY

This product is warranted against defects in materials and workmanship for 
the period specified in the warranty from the date of invoice. 

SERVICE

Technical Support is available 24 hours a day, 7 days a week. 
1-800-411-3136

https://www.varsityscoreboards.com/support/contact-support.html 
(link to fill out support request on website) 



TABLE OF CONTENTS

MODEL 1300 INSTALLA  TION    . . . . . .                                          6–7
INSTALLATION OVERVIEW .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .  8
PRODUCT SPECIFICATIONS .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .  9
LEG ASSEMBLY . . . . . . . . . . . . . . .                                             . . .  10
TESTING INSTALLED SYSTEM                                          . .      11

A NOTE 
TO INSTALLERS

If you are installing these lacrosse clocks for a client, please return the 
manual to the individual in charge of the clocks upon completion of 
installation.

DIMENSIONS 

26" tall x 26" wide x 8” depth



76

MODEL 1300 INSTALLATION

(2) 26" x 26" Lacrosse Clocks 

Shipped in (1) one section

*Legs shipped separately 

Please inspect all shipping containers upon arrival for damage and ensure 
that you have all of the parts listed below:

ITEMS IN  
LARGE PACKAGE(S)

ITEMS IN  
ACCESSORY BAG

Shipping damage must be noted at the time of delivery. The shipper is not 
responsible for shipments that aren’t sighted for as damaged upon arrival. 
The shipper is responsible for filing a claim, unless shipped 3rd party.

(1) PSC1 Controller

INSTRUCTIONS FOR  
REPORTING SHIPPING DAMAGE
1 /

Note “DAMAGED” on the Delivery Receipt Form, including details 
of the type of damage to the freight and packaging.

2 /

Ask the delivery driver to call the local terminal and report im-
mediately.

3 /

Contact Varsity Scoreboards immediately while the delivery 
driver is still present to report the damage

A. Phone number
B. Email

(1) Battery Charging
Dock

(1) USB Charger



98

INSTALLATION OVERVIEW

PRODUCT SPECIFICATIONS

This manual will walk you through the installation of the lacrosse 
clocks. While care has been taken to consider the many scenarios for 
installation, some general information applies to all. Follow this guide as 
closely as possible to ensure proper installation.

1 /

Review the product specifications below to determine your 
specific installation hardware.

2 /

Mount the lacrosse clocks to the rolling leg assembly.

WEIGHT

Hanging weight = approximately 35 lbs per clock 
Shipping weight = approximately 65 lbs per clock

OVERALL DIMENSIONS

26" L x 26" W x 8” D - shipped in one (1) 
section 

CONSTRUCTION

22-gauge galvanneal steel cabinet with powder coat finish for strength,
durability, and lasting appearance

INSTALLATION 

This model is to be installed on the rolling leg assembly provided.

POWER REQUIREMENTS

LACROSSE CLOCKS
(1) 20-amp, 120-volt, 60-hertz, grounded AC circuit, disconnect switch at the scoreboard is
recommended. Power consumption is 72 watts.

PSC1 WIRELESS CONTROLLER 
(1) 12-volt adaptor in a standard 120V outlet to charge the internal and extra batteries.

NOTE: To charge the internal rechargeable 9v battery, turn the PSC1 controller OFF, remove the 
battery and place it on the provided battery charger. ALWAYS keep the extra batteries charged.



1110

INSTALLING ROLLING LEGS

LEG ASSEMBLY PARTS

1-  HANDLE
2-  LEGS
2- 1/4" BOLT (FOR HANDLE)
2- 1/4" LOCK WASHERS (FOR HANDLES)
4-1/2" FLAT WASHERS (FOR WHEELS)
4- BOLTS, 3/8-16 X 2-1/2 ZINC (FOR LEG 
ATTACHMENT) 4- 3/8" SPLIT LOCK WASHERS 
(FOR LEG ATTACHMENT 4- 10" WHEELS
4- 1/2-13 X 3" BOLT (FOR WHEELS)

1 / 

Attach the 10” wheels to the leg that has the 
factory installed threaded wheel inserts.  Use 
the provided ½” hardware to do so.  Refer to 
the image. 

2 / 

Attach the legs to the delay-of-game clock cabinet 
using the provided 3/8" hardware. 

TESTING THE INSTALLED SYSTEM

Please refer to the OPERATORS MANUAL for startup 
instructions.

Congratulations! 

You’ve successfully installed your 
Varsity Lacrosse Clocks!

If any problems arise, please have the installer call Varsity Scoreboards Customer Service at 800-411-3136 while the installer is still 
present at the scoreboard. 






